Formulaire trigonométrique

Relations de base

Valeurs remarquables :

cos(6 + 2k ) = cos(6)

sin(@ + 2kr) =sin(6)

cos(—6) = cos(0) sin(-8) =—sin(0)

cos(z —6) =—cos(d) | sin(z—80) =sin(6)

cos(% - 6?) =sin(#)

sin (% - 9) = c0s(0)

cos(z + ) = —cos(6)

sin(z +6) =—sin(0)

cos(% + 9) =—sin(0)

sin (% + 49) =cos(#)
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Equations trigonomeétriques :

Formules d’addition :

X=a+2kr
cos(x) =cos(a) <
X=—a+2kr

cos(a+b) =cosacosb—sinasinb

cos(a—b) =cosacosb+sinasinb

X=a+ 2k

sin(x) =sin(«) <:>{

X=m—a+2kr

sin(a+b) =sinacosb+cosasinb

sin(a—b) =sinacosb—cosasinb

Formules de duplication :

cos(2a) =cos®*a—sin’a
cos(2a) =2cos*a—1

cosacosh = % (cos(a+b)+cos(a-b))

sin(2a) = 2sinacosa

Formule de linéarisation :

sinasinb = %(cos(a +Db)-cos(a-b))

sinacosb = %(sin(a+ b) +sin(a-b))

cos? x+sin®x=1

cosasinb = %(sin(a+b) -sin(a-b))

2 1+cos(2x)

COS” X
2
sin? x — 1—0025(2x)

Fonctions trigonometriques

cos(x)"'=—sin(x) sin(x)"'=cos(x)

cos(ax+b)'=—asin(ax+b)

—1<cos(x) <1 —1<sin(x) <1 | sin(ax+b)'=acos(ax+b)
lim cos(x) -1 0 lim sin(x) 1 c_os(u) =—u'sin(u)
X0 X x>0 X sin(u)'=u'cos(u)




